M 52018CTF2E U35 _Crypto

E 15 Rorschach321 F 2018-08-30 18:53:42 K fii 1570 Wi
7r3%H: HackerGame X ##5%:: CTF K#2018 CRYPTO
AR B A SCATEEJRQISCE, #98 CC 4.0 BY-SA R, HBIEM LR A BB A .

AHEE: https://blog.csdn.net/u011247544/article/details/82219029

KA

-y

. HackerGame ER2WMFIZHE
8RXEOITIH
RS

0x0 shenyue

HIEARDAAE, &R IR —E



https://blog.csdn.net/u011247544
https://blog.csdn.net/u011247544/category_7162720.html
https://so.csdn.net/so/search/s.do?q=CTF&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=%25E7%25BD%2591%25E9%25BC%258E2018&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=CRYPTO&t=blog&o=vip&s=&l=&f=&viparticle=
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/u011247544/article/details/82219029
https://blog.csdn.net/u011247544/category_7162720.html

0x1 number

RIE 2 KA BENL S Rp, BT R

X1*p+z=A1

X2*p+z=A2
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MX1*p+flag % p=A1AREHA1/p==1flag % p, flag==A1/p +p*i
23i=08, f#diflag.
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speats it until it matches the length of the plaintext, for example, the key

holds the letters a to z (in shifted order). although there are 26 key rows

{1, e, m, o, n}. flad, '{" and 'wigenereisveryeasyhuh' and '}"' for success.
corresponding key row. the next letter of the key is chosen, and that row is
msg—col] is the enciphered letter.

paired with 1, the first letter of the key. therefore, row 1 and column a of
iz used. the letter at row e and column t is x. the rest of the plaintext is
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